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Bromomethane
Response Ratio

Concentration Ratio

      Response = 1.388e-001 * Amt + 1.391e-002
Coef of Det (r^2) = 0.991536   Curve Fit: Linear
Method Name:  Z:\voasrv\HPCHEM1\MSVOA_X\Method\82X062722W.M
Calibration Table Last Updated: Mon Jun 27 15:32:24 2022
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Tert butyl alcohol
Response Ratio

Concentration Ratio

      Response = 1.783e-001 * Amt + 6.034e-002
Coef of Det (r^2) = 0.999906   Curve Fit: Linear
Method Name:  Z:\voasrv\HPCHEM1\MSVOA_X\Method\82X062722W.M
Calibration Table Last Updated: Mon Jun 27 15:32:24 2022
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